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( Nov/Dec } -
' EDUCATION'
( Core ]
Paper C—5
A Great Educators and Educational Thought )

Full Marks_ + 80
Pass Marks $ 32

Time : 3 hours :

The figures in the margin indicate full marks -
for the questtons

1. Answer the followmg questlons : 1><8=8

fa) Who was the propounder of Adva.tta
' Vedanta? :

(p) Who mtroduced the Ek—Sharan Nam _
S Dha:rma"J

{c) Write one aspect of educational
" philosophy of Rabmdranath Tagore.

d) What is the meaning of ‘basic
: education’? : :
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(2) | (3)

fe) Who is the author of the book, Emile? 4, Discuss the educatidnal contribution of

{f/ State one objective of .elducatio'n Rablndranath Tagore. : 10
according to Plato. : ) . or

{g) Mention one famous book of John _ What is basic education? Explain- about the
Dewey. - B curriculum, salient features and  the

relevance of basic education of Mahatma
Gandhi in the present context of society.
' - 2+4+4=10

() Who has given the idea . of
deconstruction method of teaching?

2. erte short notes on the following : 4x5=20 5. What were the aims of Plé.to’é. system of

fa) Relationship between Brahma and education? Discuss about the curriculum of

world according to Shankaracharya higher education according to Plato. 5+5=10

(b} Aims of education according to ' Or _
Vivekananda Write the concept of Rousseau’s naturalism.
{c) Main features of Plato’s theory of ' Discuss its various characteristics. S5+5=10
education _ ' _ _ _
() Meth ods of teachin ¢ in Deweys o 6. What are the concept of education according
ragmatism : _ o "to  Dewey? Discuss the principles of
prag . : ' education according to Dewey. : 4+7=11
{e). Relevance of Ivan Illich’s educational _ B :
’ thought inpresent education : 7. What are the alternative thoughts of Paulo -
T e . _ Freire about present education? Explain -
3. Write about the educational philosophy of o about the relevance of 1}15 - educational
. Sankardev.’ . I 10 _ - thoughts to present education. 4+7=11 ~
Or * Ak

Write abouf the ' curriculum and methods
- of teaching of Sankardev. o 5+5=10

P23/265 | ~ (Continued} P23—9500/265 3 SEM TDC EDNH (CBCS) C 5
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2022 _
{ Nov/Dec )
EDUCATION
( Core }
Pélper : C~6
( Measurement and Eﬁaluation in Education )

Full Marks ; 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
' Jor the questions

1. fa) Write True or False of the following : .
| - | 1x3-3
i) Psychological measurément is
qualitative in nature.
(i) The Stanford Revision of the
- Binet-Simon  Intelligence Scale,
1916 included 59 test items.
{fiii} Validity ensures the reliability of a
test. o . '

P23/259 | g ( Turn Over )



(2)

(b) Fill in the blanks 1x3=3

fij Differential Aptitude Test (DAT) was
first published in the year .

(i) Achievement quotient is calculated
by  dividing  the academic
achievement level by the ____ and
maultiplied by 100.

fiif) Multiple choice-type test is'a
test.
(¢} Write short énswers of the'_folldw'i_t{g :
1+1=2

(ii Who invented the technique of
- Word Association Test (WAT)?

i) In a distribution, the value of 3rd
quartile (Q3) is 85 and the value of
Lst quartile (Q1}1s 35. Find out the
value of quartile deviation (QD).

‘2. Write short notes on the.follow'm.g © 4x5=20
{a} Formative evaluation .
- {b} Group te.st
(c} Rbrg.lcl_'.lac.l'i_. inl::blot test
(d) Grouped and ungrouped data
() Continucus variable. . .

P23/259 | ~ ( Continued )

(3)

What is measurement? Discuss the -
importance of measurement in education.
2+8=10
_ Or
What is evaluation? Mention the principles of
evaluation. ' - 2+8=10

What is Psychological test? Write in brief about
the characteristics of a good test, 2+8=10

Or

What is verbal and non-verbal test? Describe
the merits and demerits of verbal and non-
verbal test. 2+4+4=10

What is reliability of a test? Eﬁplain aﬁy two
methods of estimating the reliability of a téest.

2+4+4=10

. Or .

What is aptitude test? Discuss on the
educative value of aptitude test. 4+6=10

What is meant by central tendency? Mention

the measures of central tendency. Describe

about the merits and demerits of central

tendency. _ 1+1+48=10
' ' Or '

 What is variability? Discuss about the

educational significance  of  measuring
variability. Mention the advantages and
limitations of standard" deviation. 1+5+4=10

P23/259 © .. (Tum Over)



(4)

7. What is normal prdbabiiity curve? What are
the properties of normal probability curve?
1+4=5

Or

‘Draw a pie diagram from the following data: 5

 Subjects . | * Total Students

Economics 20 -
_ Education 25
English 35
Political Science 45
Sociology 55

8. Conipute coefficient of correlation by Rank
Difference Method from the following data :

St No Subject—1 Subject—2
1 20 - 50
2 40 " 80
3. 50 30
4 25 45
5 60 70
6 30 35
7 .29 27
8 10 15
* k%

P23—9500/259

7

3 SEM TDC EDNH (CBCS) C 6



Total No. of Printed Pages—4
3 SEM TDC ENGH (CBCS)C 5

2022
( Nov/Dec )

ENGLISH
( Core )
Paper : C-5
( American Literature )

Full Marks : 80
Pass Marks : 32

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions B
UNIT—I

{ D-rama )

1. Answer any one of the following questions : 15

{a) Attempt a critical note on the

 symbolism in. The Glass Menagerie.

Which of the symbols represent reality
and which represent illusion?  10+5=15

v} Discuss The Glass 'Menagef‘ie by -
Tennessee Williams as a memory play.

P23/121 . { Turn Over )



(2]

- 2. Answer any one of the following questions : 5
(@) Draw a character sketch of Laura.
| () Draw a character sketch of Jim or Tom
in The Glass Menagerie.
Unit—II
{ African-American Novel )
3. Answer any one of the following questions : 15
faj What is the major conflict in Beloved
by Toni Morrison? _
(b} Was . Sethe Treasonable in Kkilling
Beloved? Justify your answer..
4. Answer any one of the following questions : 5
{a) What does the house 124 represent
in Beloved ?
{p) Who is Beloved? What does she signify?
UNrT—HI
( Short Stories )
5. Answer any one of the following Qu_es_tidns .. 15
{aj In the short story, The Pui'loined Letter,
what does the ‘letter’ symbolize?
(b) What does ‘dry’ symbolize in Dry
September ? . o
pP23/121 { Continued }

(3}

{c} How does F. Scott Fitzgerald’'s The -

Crack-Up connect with the author’s
personal life?

Answer any one of the following questions :

60

fa} What is. the major conflict in The
Puﬂomed Letter by Edgar Allan Poe?

(b} What is the irony in the character
of John McLendon you ﬁnd in
Dry September'-’

f¢¢ What is the major theme in The
Crack-Up ? '

UNIT—-IV
(Poetry]
7. Answer any one of the following questions :

{a) Discuss the subject matter of the poem,

~ Crow Testament by ‘Sherman Alexie.

(b} Do you consider The Prologue as
a feminist poem? Elucidate.

{c) Wrif_e a note on the centrai idea of
the poem, O Captain! My Captain!
by Walt Whitman.

P23/121 . Turn Over )



(4)

.{Id) How does India appeal to Whitman in

. his poem, A Passage to India?
{e} Write a critical apinfeciaﬁon on the
- poem, Mending Wall by Robert Frost.

8. .' Answer any one of the }‘ollowing questions : 5

{a) Wnte a bnef note on the major theme of .
" - The Prologue by Anne Bradstreet

{b) . What is the speakers atutude towards
the wall in Mendmg Wall by Robert
Frost'-’

fc) What is -the méjor theme .o_f the poem,
Crow Testament by Sherman Alexie?

{d} How doés Walt Whitman dramatize
between loss’ and victory’ in the poem,_
‘O Captain! My Captain!’ ?

fe} Write a brief note on the title of
the poem, A Passage to India by
. Walt: Whitman. - .

ke ek
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ENGLISH
( Core }
Paper : C-6
( Populai' Literature )

- Full Marks : 80
~ Pass Marks : 32

.Time : 3 hours _

The ﬁgures in the mafgin'ihc.licafe Jull marks
Jfor the gquestions

UnNit—I

1. Answer any one of the following : - 15

fa) Discuss Lewis CarrolP’s use of symbols
in Through the Locking-Glass.

(b) What is literary ﬁo;i's_ense’ 'o_r ‘nonsense
literature’? How -does Lewis Carroll
use this genre in- Through the
Looking-Glass? ' '

{c¢) Discuss how Alice moves - _frbr_n
innocense to  experience in - Through
the . Looking-Glass. '

P23/122 ) ( Turn Over )



(2)

2. Write briefly on any one of the following :

() The Red Queen in Through the

' Looking-Glass '

fb) Use of humour in Through the
Looking-Glass _

{c) Alice’s sense of inescapable loneliness
in Through the Looking-Glass

 UNIT—1I
3. Answer any one of the following : 15
fa) Give an overview of the early history
of English detective fiction:

(b} Discuss Agatha Christie’s The Murder of
Roger Ackroyd as a social critique in
the guise of a murder mystery

{c) Write a critical note on the use of
both ‘convention’ and ‘invention’ by
Agatha Christie in The Murder of Roger
Ackroyd. '

4. Write briefly on any one of the f0110wihg : 5

(a) The unreliable narrator of The Murder

- of Roger Ackmyd

{b) Role of Hercule Poirot in The Murder of

_ Roger Ackroyd :

fc) The setting of The Murder of Roger
Ackroyd

P23/122 ( Continued )

(3)
UNIT—II

5. Answer any one of the following :

"~ {a) Critically examine how the personal
intersects with the pO].].tha.l in Shya.m
Selvadurai’s Funny Boy.

{b) Discuss, with illustration, how
Selvadurai in Funny Boy brings
together the struggles of sexuality,
ethnicity . and class, _ _

() Comment - critically on  Shyam
‘Selvadurai’s depiction of queer 1dent1ty'
in Funny Boy

6. Write briefly on any one of the follouﬁng :

{aj Arjie’s last speech at school

{b) Black Tie

{c) Arjie’s relationship with Shehan

- UNIT—IV

7. Answer any one of the following :

fa)} What, according to you, makes
Bhimayana an instance of popular
literature? Discuss.

(b) Discuss how - Bhimayana offers an
alternate history of the caste-ridden
Indian society. '

fc) -Comment critically on the use of
multilayered symbolism in Bhimayana.

P23/122
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(4)

8. Write briefly on any one of the following :

_5
(@) The motif of ‘water’ in Bhimayana
{p} Use of speech bubbles in Bhimayana
(ﬁ) The signiﬁéance of .th.e' Mahad
Satyagraha
{ For Visually Challenged Students
in lieu of Bhimayana )

9. {a} Write a comprehensive note on the
growth and development of Dalit
literature in India. o 15

(b} Discuss = how _ Autobipgmphi_ca!
" Notes faithfully records Ambedkar's
experiences of untoUchability.

10. f{a) Write a brief note on Bhimrao

: Ambedkar as a Dalit writer. 5
: o | : |
(b} Write briefly on Dalit identity in
- .. lterature. S .
ok ok ok
P23—6500/122 3 SEM TDC ENGH (CBCS} C 6
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ENGLISH
( Core ).
Paper : C-7

" | British Poetry and Drama : 17th and
- 18th Centuries )

Pull Marks : 80
Pass Marks: 32

Time : 3 hours

~ The ﬁgures in the margin indicate full marks’
for the questwns '

UNIT—1

1. Answer any one of the foliowing questions : 15

(@) Write a note on the character of Satan
as portrayed in Milton’s Paradise Lost,
Book I : : o

{b) Discuss the s;gmﬁcance of the
Ynvocation’ of Milton’s Paradise Lost,
Book 1.

{fc} Comment cr_iticaﬂy on the__ use of Epic'
Simile in Milton’s Paradise_ Lost, Book 1.

P23/266 { Tum Over }



(2)

2. Answer any one of the following : 5
fa) Write a brief fiote on Milton as a poet.
{b) Briefly comment on the religious
condition in the 17th century England.
fc/ Write a short note on the character
of Eve as reflected in Paradise Lost,
Book I '
UNIT--I1
3. Answer any one of the following questions : 15
(@) Critically analyze: the character of
Duchess in the play, The Duchess of
Malfi by John Webster.
(b) Comment on the significance of the title
of the play, The Duchess of Malfi
(c) Write an elaborate note on the use of
imagery and symbols in the play, The
_ Duchess of Ma{ﬁ
4. Answer any one of the following : 5
{a) * Critically estimate the character of
Bosola in The Duchess of Malfi
{b) Wiite briefly on the source of The
" Duchess of Malfi ' -
fcj Discuss the tragic elements of the play,
o The Duchess of Ma{ﬁ
P23'1266 -  { Continued )

(3)
UNIT—IH
5. Answer any one of the following questiﬁns : 15
fa} Comment érltically on the image of
woman- as reflected in The Rover by
Aphra Behn.
fb) Discuss The Rover as a Restoration
- Comedy.
(o) “Analyze criticaliy the character of
Willmore in The Rover.
6. Answer any one of the fo']lc')wing : 5
(a) Write a brief note on the theme of
" disguise from The Rover.
{b) Write a note on the character of Belvile
as portrayed in The Rover.
¢} Write a short note on the condition of
women in 17th century England.
UNIT—1V
7. Answer any one of the following questions : 15.
fa} Discuss critically The Rape of the Lock
by Alexander Pope as a mock-heroic
poem.
P23/266 { Turn Over }



(4)

(b} Interpret The Rape of the Lock as a
reflection of contemporary English
society. C :

fc¢) Examine Pbpe’s use of machinery of the
supernatural in The Rape of the Lock.
8. Answer any one of the following @ 5
fa) Give a description of Belinda’s toilet.

fb) Comment on the app'ro'priatehess of the
title The Rape of the Lock.

{c) Write prelcisely on the use of allusions

in The Rape of the Lock,

* &
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Paper : C-5
(ﬁ@mwwm:
- . Full Marks : 80
Pass Marks : 32

. Time : 3 hours
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POLITICAL SCIENCE
( Core )
Paper : C-5

{ Introduction to Comparative
Government and Politics }

Full Marks ; 80
Pass Marks : 32

Time : 3 hours

The ﬁgures in the margin indicate ﬁzll marks
. for the quesuons o

1. Answer the follomng as directed : 1x8=8

fa) “Comparative Politics is the study of
" the forms of political organizations,
their. properties, correlations, variations
and modes of change.” It is said by
M. Curtis/M. G.  Smith/Jean Blondel/

'David Easton.
(Choose the correct answer)

(b). ._:Who wrote the book, Adm:mstmhve
Behaviour? : '

P23/125 o . { Tum Over )



(2)

{c) - Write the full form of LPG.

(d} The word ‘socialism’ is derived from
the French / Greek / Latin / Chinese
word ‘socias’. _ :

(Choose the correct answer)

(e What is the meaning of the word
‘colonia’?

{f//, 'Who presides over the meetmg of the '
'~ Senate?

fg) The first Constitution of the People’s

Republic of China came into force in
1950/1954/1956/1960.

. (Choose'the correct answer)

) The ’I‘reaty of Tordesillas was mgned in
1484/1494/1523/1664

(Choose the correct answer)

2. _Write on the followmg {within 150 words

~each) : _ :  4x4= 16
{a} An overview of South Asian Political
Systern

{b} Liberal explaﬁation of Colonialism
{& The Rule of Law (UK)

(d} Judicial Review Power of the Supreme
' Court of the USA

P23/125 _ { Continued )

(3)

Answer the following questions (w:thin 500 words
each) :

3 Discuss the nature and scope of Comparative

Politics. : 4+8=12
Analyze the Latin American and African

- political system. . ' - 6+6=12

4. What is socialism? Discuss the merits and
demerits of socialism. - 3+4+4=11

What is globalization? Explain the effects of
globalization in Third World Countries with
reference to India. : 3+8=11

5. What is anti-colonial movement? Discuss the
causes of anti-colonial movement. 3+8=11

Or.

Evaluate a comparative analysis of colonial
expansion of Porfuguese and Spain. 6+5=11

6. Compare the powers and functions of the
President of the USA with the Prime Minister
of UK. _ 11

 P23/125 - ( Turn Over )



(4)

Or

Compare the composition, powers and
functions of the British House of Lords with
the USA Senate. '

7. Discuss the constitutional development of
Brazil. ' - : 11
Or ' |

Make a comparative analysis of pohtlca.l
economy of China and N1ger1a

* % *
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. 2022
{ Nov/Dec )
POLITICAL SCIENCE
" ( Core ) .
_ Paper Cc-6

| Perspectwes on Public Admimstration )

" Full Marks : 80
" Pass Marks 32

_ T!me 3 hours

The ﬁgures_ in the mrgm indicate full marks
. for the questwns
1. Answer the follomng as directed : 1x8=8

{a) In which country was the subject Publlc
" Administration born?

' (b} Who authored the first textbook on
Public Administration? R

{c) “The communication is the bloodstream
‘of the organization.” Who said this?

( Pfiffner / Millet / J. Terry / Tead )

- ( Choose the correct answer }

. p23/261 : '-  (Tum Over)



(2)

(d) The word ‘governance’ is derived from
the Greek word

'(Fill in the blank )

fe) “Péople’s participation is the essence of
good governance.” Who said this?

(/i Mention one demerit of the Hierarchy.
{g) Which of the following is not a feature of
: good governance? :

il Parﬁcipation

{iiy Responsiveness

(i) Consensus oriented

fiv) None of the above

| ( Choose the correct answer }

(h) Name a book which has helped in the
emergence of New Public Management.

- 2. Write on the following [wnthm 15¢ words
each} : : 4x4=16

I(a) Nature of Public Administration
(b) Features of Human Relations Theory

- {o) Leadership and Management in Pubhc
Administration

:{d) People’s Participation in Public Policy

P23/261 ' _ { Continued )

(3)

Answer the following questions (within 500 words
each) : :

- 3.

Define Public Administration. Examine the
importance of Public Administration in

contemporary times. 12
Or
Discuss the evolutlon and development of
Public Administration as an academic
discipline.
4. Critically discuss the scientific management
theory of F. W. Taylor. 11
Or
Critically examine Herbert Simon’s theory of
rational decision making,
5. “Maslow’s hierarchy of needs theory holds
relevance till date.” Examine. 11
Or
Critically discuss Peter Drucker’.s theory of
. Innovation and Entrepreneurship. - :
P23/261 { Turn Over }



(4)
6. Define public’ policy. DlSC'lJ.SS its role and _
mgmficance R | 11
or

Make a.n attempt to discuss the major aspects - .
of implementation of public policies. :

7. Examme the concept of new public serwcei .
- approach with cntlcal evaluation. = - 11

or
Explain the impact of e-governance on the

administrative system in Incha by citing few
_ examples. ' S '

P23—12%/261 3 SEM TDC PSCH (CBCS) C 6
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2022
{ Nov/Dec )-
 POLITICAL SCIENCE
( Core }
Paper : C——7

( Perspective on Intemationel Relations and
World H:story )

Full Marks :
- Pass Marks © .32._

Time : 3 hours’

The ﬁgures in the margm mdu:ate Jull. marks
' ~ for the questzons

1. Answer the following as directed : ﬁ'- IXS%B

{a)  Who had used the term ‘Internatmnal’ '
for the first time?

{b) In which year the Treaty of Westphaha
was 81gned'-'-‘

(1618/1628/1638/1648)

- {Choose the: correct answer}

P3/126. ( Tum Over)



{c)

@

(e

g

n

P23/126

{2)

Who is the chief exponent of neo-
realism?

{H. J. Morgenthau / Kenneth Waltz /
~ Kenneth Thompson)

(Choose the correct answer)

Who is the author of the book,
Admission of Women to Full Citizenship?
(J. 8. Mill / Condorcet / Mary
S  Wollstonecraft)
(Choose the borre_ct answer)

When the Treaty of Versailles was
signed? | '

Which date is celebrated as UN Day?
' {24th Sept/24th Oct/24th Nov)
- " {Choose the correct answer)

What is the full form of NATO?

"When the Nuclear Non-Proliferation

Treaty- (NPI‘] was signed?

{ Continued )

(1918/1919/1920)
{Choose the correct answer)

2.

3.

- P23/126

(3)

“Answer the following (within 150 words

each) : 4x4=16

{fa) Write on the major provisions of the
Treaty of Westphalia.

| o) Mention four basic elements of Marxian

approach to international relations,

{¢) Mention four causes of the First World
- War. S

(d) Mention four - consequences of the
~ post-Cold War.

Discuss the meaning, nature and scope of
international relations. 2+4+6=12
- Or

Discuss the various stages of development of
international relations as an academic
discipline. 12

What do you understand by the term
‘neo-realism’™? Critically analyze the basic
assumption of neo-realism. . 4+7=11

or

 Discuss the liberal approach to the stﬁdy of
‘international relations. Put forward the

su’ggestions for reformations propounded by
liberal approach. o _ : T+4=11

{_.Tum Over )



5

(4

Crltlcally analyze the femlmst perspectwe of
1nternat10nal relatlons '

Diécu:s's' the basi_i:'_féatlires.'of _érit:_ical theory
to the study of international relations.

Discuss the-basic cat:seé résponsible for the. -
breakout of the Second World War in 1939.

or

' Critically analyze the factors responsible for

- P23-12%/126

the rise of Nazism in. Germany during the

inter-war period.

Dlscuss | the causes .rcs'ﬁo_nsibl'e for - the
- disintegration of USSR.

Or_ -

. Discuss the worknng of Europea.n Unlon as a
- .reglonal organmatmn

KAk

11

11

11
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 HISTORY
( Core )
~ Paper : c-5 o
.[Historjr of India (750'—1.206') !

- Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
 for the guestions

1. Answer the following questions in one word
or in one senterice each : 1x8=8

{fa) Who wrote the unique Sanskrit Kavya,
" Ramacharitam?

(b} Who was the founder of ' the
Rashtrakuta dynasty?

fc] _Whicﬁ early' medieval Indian dynasty
built the rock-cut temple of Kailasha at
' Ellora? _ B ' '

P23/48 " {Tum Over }



{2)

fd) Name the Pala ruler who was the first to
plunge into the Tripartite Struggle.

(e)  What is Guild?

() Name one well-known centre of trade
during the early medieval period.

{g} Which temple in India is known as the
‘Black Pagoda’? '

- fh)  Who built the Brihadeeswara Temple in

Thanjavur? . . o :
2. Write short notes ‘on any three of the
. following : R 4x3=12
fa) Rajatarangini
{b) Major styles of Indian temples
{c) The role of landlords in the early
medieval India’ '
{d) Forms of exchange in early medieval
period
{e} = Tantrism
3. What is historical geography? Give a brief
‘account on historical geography of India
during the carly medieval period. =~ 2+10=12
Or '
What is epig_raphy? Narrate the epigraphical
“sources of early medieval India. 2+10=12
P23/48 { Continued }

P23—9500/48

(3)

Review the Chola system of administration. 12
| Or

Who was Muhammad bin-Qasim? Narrate
the significance of the Arab conquest of
Sindh, . 2+10=12

What is meant by agrarian structure?
Discuss about the development of agriculture _
in early medieval India. 2+10=12

Or
Trace the circumstance that led to the
proliferation of caste during the early period. 12
Describe about the maritime trade of early
medieval India. 12
or
Write a note on the inter-regional trade of

carly medieval India. 12

Write a short note on the development of
Jainism and Buddhism in early medieval

India. 6+6=12
Or
Make an estimate of Al-Biruni’s works. 12
ko k
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HISTORY
( Core )

Paper : C-6

( Rise of the Modern West—I]

Full Marks : 80
Pass Marks : 32

Time : 3 hours.

The figures in the margin indicate qu marks

Jor the questions

1. Answer the following questions in one word
or in one sentence each.;

{a)
(b}

fc

{d)
{e)

P23/49 -

Name one British colony in America.

: 1x8=8

In-which year was America discovered

by Columbus?

What is the meaning of the term

Renai ssance’: ?

Who Were the HuguenotsP

What were the’ ‘indulgences’?

{ Turn Over )



{2) . (3)

(/) What is the Price Revolution™? 5. Discuss the causes of the origin of the
B g What do yoi.l mean by the term . Reformation Movement. : 12
‘absolutism’? : ' ' Or |
{h) Who led Russia during the age of S Analyse the impact of the Counter-
absolutism? - ' _ : Reformation Movement in Europe. '

2. Write short notes on any three of the : 6. Describe the economic developments which
following : T o 4x3=12 influenced Europe in the 16th century. 12
(a) Feuda].lsm _ Or
b Rena.lssance Art | _ _ Write a note on the infilux of American silver.

() Jobn Calvin o 7. Analyse the role of Philip II in Spain. 12
(d) Commercial Resclution ' Or '

e) The Thu‘ty Years’ War Was there absolutism in England? How did it

3. Write a note on the causes leading to the aﬂ’gc’t the State?
growth of capitalism. = - 12
or . _ ' o * Kk *
Describe the role of the European explorers
in the- changmg world
4. Discuss the causes leadmg to the advent of
Renaissance. - 12
Or

Describe the factors leading to the spread of
humanism in Europe. :

P23/49 . . - { Continued ) P23—9500/49 | 3 SEM TDC HISH (CBCS) C 6
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HISTORY
(.C.oré )
Paper C-7
1 History of India IV | c 1206—1550 )]

Full Marks: 80
_ Pass Marks 32

Tlme 3 hou.rs '

The ﬁgures in the margin indicate ﬁdl marks
' for the questions -

1. Answer the following questions in one word
or in one sentence each : : . 1x8=8

fa) Who composed th_é poem, 'Pr_ith'viraj
Raso?

{p} -Name the Moroccan traveller who visited
~ India during the reign of Muhammad .
bm»’I‘ughlaq _ o

- fo) .'-Who was. the founder of the LOdl
o dynasty? :

‘P23/267 -(mmo:;er'};



(2)

{(d) What was the name of the gold coin

issued by Muhammad bin-Tughlag?

{e) What was the another name of the
Vijayanagar city?

{/ What was the capital of Vijayanagar

Empire?

{g} In which year was the Battle of Talikota
fought? o

{h) Who introduced Iqgta system in India?

2. Write short notes on any three of the

following : 4x3=12
(@) Veergatha tradition

(b} Battle of Panipat
{c) _Hasan Bahman Shah
{d) Revenue free graints _'
fe} Lal Ded

3. Critically assess the Persian Tarikh tradition
as a source for historiography of the Delhi
Sultanate with special reference 1o
Minhaj-i-Siraj Juzjani’s Tabaqat-i-Nasiri 12

. - or :
Analyze the significance of the epigraphs as a
source of history writing of the Sultanate
period.
{ Continued }

 P23/267

7.

P23—9500/267

(3)

Critically examine the market control policy
of Alauddin Khalji. ' 12
' Or

Make an estimate of _the achievements of the
Sultan Htutmish. '

Describe the administrative structure of _
Vijayanagar Empire. 12

Or

Write an essay' on Indo-Islamic architecture
under the Sultans of Delhi. :

Write an essay on the development of

- agriculture during the Sultanate rule. = 12

Examine the rural society and its
stratification in India during the Sultanate
period. '

What is monotheism? Discuss various
monotheistic traditions of North India during

the Sultanate period. _ 12

_ Or
What is Sufism? Discuss the main teachings

of the Sufis. 2+10=12

kRk
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"ECONOMICS
((Core )
Paper c-5
{ Essentials of Hicroeco;mnﬁés "] |

Full Marks : 80
Pass Marks = 32

Time : 3 hours

The figures in the marym indicate full marks
Jor the questions

1. Choose the correct option/Answer the -
following : : : - 1x8=8

fa) Indifference curve an.alysis is based on
- marginal rate of substitution. -

{ diminishing / increasing /
' ' constant.) -~ -

f127) What is meé.;‘;t by unllty ma:nrmzanon?

P23/264 ( Turn Over )




(c)

{d)

(2)
One feature of Giffen good is
It} negative_ _i:npc;_rlr_;e_‘ effect
(it} bositive income _effgct

(iii) zero income effect

(iv) positive substitution effect

The substitution effect can be measured
holding '

. (i) income constant

(e)

P23/264 -

fii) utility constant

(if}) the P_rice of one good constant -

- fiv} the price of all. goods cbnsia_nt "

What do you mean by marginal rate of

'techmcal substltutlon? :

{ Continued )

(3)

In the long run, some firms will exit the
market if the price of the goods offered
for sale is less than

i) APC

(ii)- MC

fifi) ATC

- fiv) AR

{9/

The firm in a 'perfectly competitive

- market is a prxce taker. The designation

' as a price taker is based on ‘the

P23/264

assumption that

(i) the firm has nominal control over
its product price

fi) there are so many buyers and
sellers in the market that any
individual firm ca.nnot. aﬂect the
market

fiiij there is easy entry into or exit from
© the market

fiv} None of the 'élbd";r"e '

{ Thm_;_(?ver )



{4)

fh) Profit for a firm is maximum, when .

i MR > MC
(i) MR < MC
fiii) MR = MC

fivy MR = MC = 0

2. Write .short_notes on any four of the following

(within 150 words each) : 4x4=16
{a} Indirecf u’tiﬁty fl;{-nqj;itjn
| .ﬁ {b) Revealed preference theory
(c)' E;ipansi;)n' patl'.l..-
{d} 'Disecqnomiés of scal.e-.-. .
fe} Profit 'maximi_z_g.ttion ri,ile'._' K
P23/264 ( Continued )

(5]

Answer the follbwing qucsfions (within 500 words

each) :

3. ()

(b)

4, {a}

(v

P23/264

Write the meaning of rational choice.
Explain, by using indifference curve
and budget, how a consumer attains
3+8=11

equilibrium. -

or
What is meant by expenditure
minimization? Explain the properties of
expenditure function,

3+8=11

Using indifference . curve analysis,

show how price effect of a commodity

is’ dgéomposed into income effect.
and substitution effect in case of

normal good. . 11
Or

Expléin graphically t_hé ' compensated
and ordinary demand curves. 11

{ Turn Over )



5 {a)-

( 6)

What .is. meant by marginal rate of

technical substitution? How do you
calculate margmal rate of substitution?

E‘_,xplam_ _ _ 2+9 11

(b}

6. (a)

®

.diagram. -

What is production function? What
are the properties of C-D production
function? Explain C-D production
function with the help of suitable
2+2+7=11

Explain graphtcally the short -run cost
curves and their mterrelatnonshlps 12

Or.
How is the LAC cu.rve denved from a set

of shorbrun AC curves? Why is LAC .
curvé U-shaped? Explain L 7+5=12

What is perfect ‘competition? Explam
short-run and long-run equilibrium in

a compeutwe 1ndustry w1th the help of

'P23/264

suitable diagram. : o 2+49=11

o Continued }

P23--5000/264

(7))

Or
b} (i) Write the differences between.
perfect competition and . pure
competition.
i) Explain why firms earn  zero

profit in long-run competmve
equilibrium. ' 6+5=11

s ok i
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Paper : C-6 -
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| Full Marks: 80
Pass Marks : 32

Time : 3 hours

The figures in the margm indicate quI marks
- forthe que.stwns -

1, Answer the foiiomng a8 chrected 1=8=8

{a} Menuon one  proposition 'of the
Keynesian consumption functior.

(b} What is induced investment?
{c/ What is Phillips curve?
(d) Write the formula which'is used for

measuring the rate of inflation through -
changes in Price. Index Number. {PINj.

P23/189 - o { Turn Over'}



(2)

fe; The absolute purchasing-power parity
theory postulates that the equilibrium
exchange rate between two currencies is
equal to in the two nations.

( Fill in the blank )

{) Define stagflation.

fg) Mention one important. cause of BoP
 disequilibrium.

fh) Suggest one method of correcting
disequilibrium in Balance of Payments
(BoP).

2. Write short notes on é.ny Jfour of the following

(within 150 words each) : . 4x4=16

{a) Marginal .P.ropensity. to Consume (MPC)

and its signiﬁca.nce

{b) Marginal Efficiency of Cap1ta1 (MEC) and
rate of investment :

{c} Inflation and expectations -
{d} Dornbusch’s overshooting model

{e) International financial market -

P23/189 |  {Continued )

(3)

Answer the following questions {within 500 words
each) :

{a) Explain the theory of absolute income
hypothesis. What are its drawbacks?
. 8+4=12
Or _ '
b (i Explam the determinants of
- consumption function. ' 6

i) What is Ratchet effect in

' consumption behaviour? Mention
the limitations of relative income
hypothesis. : _ 2+4=6

4. {a) What is ‘marginal efficiency of
investment? Explain the relationship
between Marginal Efficiency of Capitat
(MEC) and Marginal Efficiency of
Investment (MEI]. ' 5+6=11

(b)) What do yvou mean by gross and net
investment? Explain the process of

income generation through the invest-
ment multiplier with an exampie. 4+7=11

{a) Explain the relationship between
inflation and unemployment with a
suitable diagram. Mention the policy
implications of this relationship. 8+3=11

P23/189 . S  {Turn Over)



{4)

. Or

{b) Discuss critically the rational expecta-
~ tions theory. How does it differ from
adaptlve expectatlons theory? . 8+3=11

5. (a) What do you mean by exchange rate
. determination in an open economy?
Explain the absolute purchasing-power
parity theory of exchange rate
determination. : L. 3+8=11
{b) What are the dif’t‘éx_‘e;ices_ between open
and closed economy? Critically explain
the Mundell-Fleming model of BoP

__._adjustlnent in the frameworlg of IS-LM
- model for ai open economy. . 4+7=l11

7. {a} What are current and capltal accounts
in Balance of Payments (BoP)? How can
a disequilibrium in Balance of Payments
be corrected? . N - 44+7=11

b) Distinguish between . Balance of
Payments {BoP} and Balance of Trade

_(BoT). Explain the monetary approach to
. Balance of Payments L 4+T=11

Hokk
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Paper :.- (5—7 |
( Statistical Methods for Economics )

‘Full Marks : 80
Pass Mar_ks 132

Time : 3 hours -

The figures in the margin indicate full marks
- for the guestions h

1. Answer the following as directe_d__: | I.x'8¥8

fa) Which of the following averages is
appropriate for computing rate of
growth?

il Median

(‘u} Mode
i) GM _ o _
) AM o |
' | { Chéosc tﬁe éorrect answer )

P23/190 | | - { Turn Over )



(b)

()

(d

(2)

oy

In measure of skewness, the absolute
skewness is equal to

{ii Mean + Modc

(i} Mean + Median
(i) Mean -~ Mode |
fiv} Mean - Median

( Choose the correct answer )

What is random variable?

Two events A and B a_re mutually
1

excluswe PA) —~5—, P(B) = =3 Find the

P23/190

probabﬂlty that at least one Wﬂl occur. |

- 8
(:)1—5.-..
2

15
S
15
. 1
) —
) 15

{ Choose the correct answer )

{ Continued )

@

_ _(h).

Write short" notes on - any four of the
fcIlow:ng o '

{a) Mathematical

P23/190

(3)

Binomial -distribution depends 'on.
fit n only
fii} p only
i) nand p |
{iv) None of the above
- { Choose the correct answer )

What is standard error?

Spearman’s  correlation  coefficient

- differs from Karl Pearson’s coefficient of - - °

correlation when

( Fill in the blank )

If both the regression coefﬁcients are
negative, correlation coefficient would
be

{ Fill in the blank } -

expectation and its
properties '

4X4—16

{ Turn Over )



(b)
(c)
(d)
(e)
3. (o
Mhdﬁ.
No. of
Students :
(b

P23/190

(4}

Coefficient of determination and its uses
Sampling errors _

Independent and dependent events

Formulation of null hypothesis

- Find the missing frequencies in the

following distribution if ¥ =100 and the
median of the distribution is 30 :

0-10 - 1020 20-30 3040 40-50 50-60

Also- mentiOh the properties of the
median.

Or

The arithmetic méan' and the sfandard
deviation of a set of 9 items are 43 and 5

respectively. If an item of value 63 is

added to the set, find the mean and SD
of all the 10 items. Also state tife merits
of 8D. . .

'10 - 25 30 — 10

8+3=11

8+3=11

{ Continued }

4, _ {a)

i

(i)

(5)

State. and prove the multiplication
theorem when events are
independent. L

Find the probability of drawing a
king, a queen and a knave from a
pack of cards in 3 consecutive
draws, the cards drawn not being
replaced. ' 7+5=12

'_Or

() If 2 dice are thrown, what is the
probability of getting—

()

(i}

(iix)
- fiv)

5. f(a)

237190 .

()

(i)

either total 8 or total 10;

at least one six;
total being multiple of 3 or 4;
total 9? 4+3+3+2=12

Point out the fa_]leicy if any in the

- following statement @ 4

e The mean of a binomial

o distribution is 10 and its SD is 4.

Mention the properties and uses of
Poisson distribution.  3+4=7

{ Turn Over }



(7)
(6)

Or
or . | |
From the following data relating to sales

fb) 8 coins are thrown simultaneously. ) and cost of sales of 10 companies, ﬁnd%
' ’ ient o
i) Show that the probabxhty of out the Karl Pears.ons Cozfii .
' obtalmng at least 6 heads is correlation by the direct me ’
(377256 . 56 60 55 65 75 70 75 80 90 80
(u) Find the. probabﬂlty of obtaining at Sales ) g 12 15 11 16 18 19
most 3 heads. - T+d= 11 Cost of Sales : 12 14 15 .1
: ' 9+2=11
6. (a} Explain dlﬂ‘erent methods of sampling. _ Also interpret the result.
Mention two differences between sample '

and census, o S 9+42=11
Or '

(b} In a certain sample of non-Hindu 2000
families, 1400 families are consumers of
tea. Out of ‘1800 Hindu families,
1236 fami]ies consume tea. Use x2-test

* Je K

and state whether there is significant
: dﬁ'ference between coitsumption of tea
among Hindu and non-Hindu families, 11

7. (@) From the data given below, compute two
regressmn coefficients and formulate
the two regression equations :

-EX 510, zy= 7140, TX? =4150,
XY =54900, 3Y2?=740200 and

. N=102 _
Also determine the value of ¥ when

X=17. - 9+2=11 :
- | R | P23_5000/190 3 SEM TDC ECOH {CBCS) C 7
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